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Lab Work 6
Problem 1: Find the errors and correct them.
a-
#include <iostream>

using namespace std; 

int main()

{

   r=10, s=1, t =1;

   While (r >= 1) 

   {    cout<<"\n"<< r+3;

        R = R + 5; }

   while ( j <= 10 ) 

   {             

      if(j % 2) 

           cout<<"<"; 

      else 

           cout<<">";  

      j = j + 3                         

    if (s = i)

      cout<<They are equal\n;

system("pause");

return 0;

}

b-
#include <iostream>

using namespace std; 

int main()

{

   int x=1 ,int y+=2;

   cout<<"x="<<x+=1<<"y="<<y-=1<<endl;

   for(i=1; i=!5;i++)

   {


   switch(i%y)



   case 0:cout<<i<<"is divisible by"<<y<<endl;



   default: cout<<i<<"is not divisible by"<<y<<endl;

   }

system("pause");

return 0;

}

Problem 2: What is the output of the following programs?

a-

#include <iostream>

using namespace std;

//Assume the user inputs the following values 1, 5, 2, 10, 3, 8, and -1

int main()

{
int code, quantity;


int price = 0;


int total = 0;


cout << "Enter your code (-1 to exit): ";


cin >> code;


while ( code != -1 )


{



cout << "Enter your quantity: ";



cin >> quantity;



switch ( code )



{




case 1:





price = 2 * quantity;





break;




case 2:





price = 3 * quantity;





break;




case 3:





price = 4 * quantity;





break;




default:





cout << "Invalid selection\n";



}



total += price;



cout << "Enter your code (-1 to exit): ";



cin >> code;


}


cout << "Total = " << total << endl;


system( "pause" );


return 0;

}

b-

#include <iostream>

using namespace std;

int main()

{



int fahr, lower = 0, upper = 100, step = 20; 



float celsius = 0;



cout<<"Fahrenheit\tCelsius\n\n";



for (fahr = lower ; fahr <= upper ; fahr += step) 



{ 




cout<< fahr<< "\t\t" ; 




celsius = (fahr - 32)*(5.0/9.0)  ; 




cout<< celsius<<"\n"; 



} 

            system("pause");



return 0;

}

c- 


#include <iostream>

using namespace std;

int main()

{



int h=6; 



int ln, m = 10, count, sp; 



for (ln = 1 ; ln <= h ; ln++) 



{




 sp= m+h-ln; 




 for (count = 1 ; count <= sp ; count++) 





     cout<<"  ";   




 for (count = 1 ; count <= ln * 2 ; count++) 





    cout<< "*"; 




 cout<< "\n"; 



} 
system("pause");



return 0;

}

d-
#include <iostream>

using namespace std; 

int main()

{

   for ( int row = 1; row <= 3; row++ ) 

   {

      for ( int space = 1; space <= 3 - row; space++ )

         cout << ' ';

      for ( int asterisk = 1; asterisk <= 2 * row - 1; asterisk++ ) 

         cout << '*';

      cout << '\n';

   } 

   for ( int row = 2; row >= 1; row-- ) 

   {

      for ( int space = 1; space <= 3 - row; space++ )

         cout << ' ';

      for ( int asterisk = 1; asterisk <= 2 * row - 1; asterisk++ ) 

         cout << '*';

      cout << '\n';

   } 

   cout << endl;

            system("pause");



return 0;

}

Problem 3:
Fill in the blanks with the missing C++ statements:
#include <iostream>

using namespace std;

int main()

{ 

  int age = 0;

  _____ cont=true;

   do{

    cout<<"Enter your age: ";

    cin>>age;

    if(age >=18)

         cout<<"You are allowed to loop again"<<endl;

    else

     {

      cont=_______;

      cout<<"You are not allowed to loop again"<<endl;

    }

  }while(____);

  system("pause");

  return 0;

}
Problem 4:
Type the following program then apply the below listed steps:
#include <iostream>

using namespace std;

int main()

{


int item;


double total=0;


char choice='y';


while(choice=='y' || choice=='Y')


{



cout<<"Choose from the following Menu \n";



cout<<"1-Soft Drink = $2 \n"




<<"2-Hot Chocolate = $5 \n"




<<"3-Cake = $4 \n";



cin>> item;



switch (item)



{



case 1:total+=2;break;



case 2:total+=5;break;



case 3:total+=4;break;



}



cout<<"Do you Want to choose More (y/n)  : ";



cin>>choice;


}


cout<<"\n The total to be paid is= $"<<total<<endl;


system("pause");


return 0;

}

;
1-Compile, link then execute the program

2-Modify the program to add three more items (1-Coffee= $3 , 2-Donuts = $2.5, 3-Ice cream= $6)

3-Modify the program to use Do/While instead the While and to serve more than one customer.

4-Modify the program to print how many items sold at the end of the day.
Problem 5: 
Write a C++ program to input 2 integers “x” and “y” and a character “z”. Verify that the 2 integers are between 1 and 20 and that x is less than y (use a do-while structure). Use a “switch” statement to select one of the following choices based on the value of “z”:
A. Display the even integers between 1 and x (use a for loop)

B. Display the odd integers between 1 and y (use a while loop)

C. Calculate and display the sum of divisors of x

D. Calculate and display the factorial of all integers between x and y
Modify your program so that it will not stop until the user enters ‘X’ as a value for “z”
SOLUTION
	#include<iostream>
usingnamespacestd;

int main()

{


int x, y, i, j, sum = 0, fact = 1;


char z;


cout<<"Enter your choice: ";


cin>> z;


while ( z != 'X' )


{



do


{




do



{





cout<<"Enter a value for x: ";





cin>> x;




}while ( x < 1 || x > 20 );




do



{





cout<<"Enter a value for y: ";





cin>> y;




}while ( y < 1 || y > 20 );



}while ( x >= y );



switch ( z )



{



case'A':case'a':




for( i = 1; i <= x; i++ )





if( i % 2 == 0 )






cout<< i <<" ";




break;



case'B':case'b':




i = 1;




while( i <= y )




{





if( i % 2 != 0 )






cout<< i <<" ";





i++;




}




break;



case'C':case'c':




for( i = 1; i <= x; i++ )





if( x % i == 0 )






sum += i;




cout<<"Sum = "<< sum <<endl;




break;



case'D':case'd':




for( i = x; i <= y; i++)




{





fact = 1;





j = 2;





while ( j <= i )





{






fact *= j;






j++;





}





cout<< i <<"! = "<< fact <<endl;




}




break;



}



cout<<"Enter your choice: ";



cin>> z;


}


system( "pause" );


return 0;

}


Problem 6:

You own a car rental company and would like to calculate your daily income based on the car category and the number of rental days. the three categories with its corresponding daily charges are as follows:

· category 1 with daily charge of 100$

· category 2 with daily charge of 75$

· category 3 with daily charge of 50$

Write a C++ program that takes as input the car category and the number of rental days. The program must use a do while statement that loop on a menu from which to choose a category as long as the user wishes to. Once the user decides to stop, the program must display the daily income with a 10% VAT tax.
SOLUTION
#include <iostream>

using namespace std;

int main()

{ 

int days, category, amount;

double income=0.0;

days=category=0;

do{

cout<<"Welcome to my car rental company"<<endl


<<"Press 1 for luxury car category"<<endl


<<"Press 2 for sport car category"<<endl


<<"Press 3 for normal car category"<<endl


<<"Press 4 to quit and display daily income"<<endl;

do{

cout<<"Enter the car category ";

cin>>category;

}while(category<1 || category>4);

amount = 0;

switch(category){


case 1:


cout<<"Give the number of days rented: ";

cin>>days;


amount = days*100;


cout<<"You must pay "<<amount<<"$ for "<<days<<" days rental"<<endl;


income+=amount;


break;


case 2:


cout<<"Give the number of days rented: ";

cin>>days;


amount = days*75;


cout<<"You must pay "<<amount<<"$ for "<<days<<" days rental"<<endl;


income+=amount;


break;


case 3:

cout<<"Give the number of days rented: ";

cin>>days;

amount = days*50;


cout<<"You must pay "<<amount<<"$ for "<<days<<" days rental"<<endl;


income+=amount;


break;


case 4:


cout<<"Thank you for choosing our software"<<endl;


break;


default:


cout<<"Wrong entry, try pressing 1, 2 or 3"<<endl;


break;

    } 

}while(category>=1 && category<=3);

income+= income * 0.1;

cout<<"Your daily income is "<<income<<endl;

system("pause");

return 0;
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